
Example Results fs/2fs/10

Averaged Model
DT Model

* Includes td=760ns of 
delay in feedback loop



Inclusion of Delay

Averaged Model with Delay
DT Model

𝐺௩௨† 𝑠 ൌ 𝐺௩௨ 𝑠 𝑒ି௦௧೏



Current Control
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Example: Phase Shift Modulation



Dual Perturbation



Dual Perturbation



Half-Cycle Model



Example: Introductory DAB
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ValueParameter

50 VVg
4 VVout
3.5 AIload
20 µFCout
9.5 µHLl
25:2nt
1 MHzfs
97%ηpk



DAB Transfer Function Comparison

Gvphi = ss(PHI, GAMMA, C, 0, Ts);
bode(Gvhpi);

or

z = tf(‘z’,Ts);
Gvphi = C*(z*eye(ns)-PHI)^- GAMMA;
bode(Gvphi);


